o(d dxy) (cm)

N

o
i

-
L

807

.'.'..'.':IB':‘

Rati
|_\

o
©
——————

o
0

- E
Eo '
- 2=
& &

i

w

-1 3

o(d dz) (cm)

-2

—=— DQM_mKFit_TTbase

—— DQM_mkFit_TT_baseline_6iter

—e— DQM_mKFit5_TT_retrainOldFiles125 v2_prelimWP_epoch4

—+— DQM_mKkFit6_TT retrainOldFiles 125 v2_prelimWP_epoch2_wSQCD

o(® @ (raq%

Ratio

0.9

: -+

;.. N

e K

I 1 111 ] 1 1 I 1] 1 1 1111 11111
H: + : i
ks T- |+ : 4
H. L o 3

P A |- |- -

o1 |+ < T A [ [ T

D i 0 : -4
H: ) ] y ; > |
H: T4 ] adEs ; +|7T
T FFr - - TrEe - - - e o
_E E I E ﬂ% -4~ :
[l i T i i =4 i

0.8t

-1 0 1 2 3
TP ® (PCA to beamline)

1—

o p_/p.)

1071

hrdE 2 4
- -
T4 |- -1 5=

Tl 1]

2 3
TP ® (PCA to beamline)



	Contents
	Page 1


